


7,931,000

7,210,000

L=217.0

Gp-Cp-2E

15cm)

—X>X>r




07 05 20

07 01

07 01

06




H00100

7,931,000
H00200
7,931,000
01
K0002
7,931,000
Q00001

7,931,000




01

K0002
1 7,931,000
VT
1 3,455,403 : 9,750
X
1 12,871 1,400
SP210100-0001 -1- -1
114 m3 5,980 8,372 1
5.9 E0008
1:4 m3 3,214 4,499 1 1,400
X
1 3,103,406 1 6,000
( )
Gp-Cp-2E $810600-0001 -2- -8
100 188.7 15,240 2,875,788 1
E0001
-3-23-1 97 2,272 220,384 2
D0006
0:1 m3 72,340 7,234 1 1 6,000
X
1 195,473
( )1 30mm
(13) SP410261-0001 -1- -1
1.4 2.15 7.9 m2 2,309 18,241 2
( )
100mm 1 SP410031-0002 -1- -1
RC-40 7.9 m2 973.4 7,689 3




( )1 50mm
(20) SP410260-0001 -1- -1
1.4m 2.35 1 m2 3,332 4,998 4
150mm 1 SP410040-0001 -1- -1
M-40 1. m2 1,091 1,636 5
150mm 1 SP410030-0001 -1- -1
RC-40 1: m2 758.3 1,137 6
6mm $812010-0002 -2- -1
50m2 22: m2 7,320 161,772 2
X
1 10,789
15cm
1.5mm $821210-0001 -1- -1
29: 367 10,789 3
X
1 6,464 : 2,350
10.5 D0001
0; m3 12,928 6,464 2 : 2,350
X
1 126,400
B
[0.904(3/1 0.908)] TR0900 P836
900 8 15,800 126,400
P0000001
3,455,403
HO3701
1 697,100




H00802
35,100
H20005
35,100
D000S
35,100 35,100 3
« D
H00803
662,000
3,455,403*19. 17% Q00910
662,000
HO0600
4,152,503
4,152,503*40.91% Q00601
1,698,000
H00500
5,850,503
5,850,503*23. 23%+2,340-1,914 Q00501
1,359,497
H00400
7,210,000
7,210,000%10.00% 00401
721,000
Q00402

7,931,000




<<

>>

06

<<

>>

3,455,403

9,750

103,662 = 3,455,403 * 3.00 / 100

0

3,455,403 = 3,455,403

19.17 = 19.17

662,400.7551 = 3,455,403 * 19.17%

0 = 3,455,403 * 0.00%

662,000 = 662,400.7551 + 0

3,455,403

-
al
o

O oo o oloo|o

3,455,403 = 3,455,403 - 0




662,000 = 662,000 * 3,455,403 / 3,455,403

4,152,503
4,152,503 = 4,152,503
40.91 = 40.91

1,698,788.9773 = 4,152,503 * 40.91%

0 = 4,152,503 * 0.00%

1,698,000 = 1,698,788.9773 + 0

4,152,503

o|lo|lo|o

0

4,152,503

4,152,503 - 0

1,698,000 = 1,698,000 * 4,152,503 / 4,152,503

5,850,503

5,850,503 = 5,850,503

23.23 = (-4.97802 * Log(5,850,503) + 56.92101) * 1.00

1,359,071.8469 = 5,850,503 * 23.23%

2,340 = 5,850,503 * 0.04%

1,361,411 = 1,359,071.8469 + 2,340

5,850,503




o | oo

0

5,850,503 = 5,850,503 - 0

1,361,411 = 1,361,411 * 5,850,503 / 5,850,503

1,914 = 7,211,914 - 7,210,000

1,359,497 = 1,361,411 - 1,914




01

3,455,403 3,455,403
697,100 697,100
35,100 35,100

0 0

0 0

0 0

0 0

0 0

35,100 35,100

0 0

0 0

662,000 662,000
662,000 662,000

0 0
4,152,503 4,152,503




01

1,698,000 1,698,000
0 0

0 0
5,850,503 5,850,503
1,359,497 1,359,497
7,210,000 7,210,000
721,000 721,000
7,931,000 7,931,000




1 (D0006)
m3
, : 60,000 )
14.0km  22.0km $232010-0002 -3- -2
m3 12,340 12,340 4
TFD160H012 P39
() m3 60,000 60,000 : 60,000
P0000001
72,340
P0000002
72,340
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2 (D0001)

10.5 1 m3
( , - 4,700 )
( ) SP227010-0002 -2-25-1
12.0km DID ( ) 1 m3 8,228 8,228 8
( )
TFDO30H130 p37
() 2.35 2,000 4,700 : 4,700
P0000001
12,928
P0000002
12,928

11




(D0008)

L0017
3,200 3,200
L0018
3,200 3,200
L0019
3,150 3,150
L0020
3,600 3,600
L0021
4,100 4,100
L0022
4,350 4,350
L0023
4,150 4,150
L0024
9,350 9,350
P0000001
35,100
P0000002
35,100

12




(E0008)

5.9 m3
, : 1,000 )
0.28m3(  0.2m3) SP210110-0001 -1- 41
6.0kn  DID «C ) m3 2,214 2,214 7
L0007
m3 1,000 1,000 = 1,000
P0000001
3,214
P0000002
3,214

13




2 (E0001)
100
( -3-23-1
[0.771(3/1  0.775)] TR0010 P834
900 1 30,200 30,200
[0.783(3/1  0.769)] TR0020 P833
900 2 29,600 59,200
[0.847(3/1  0.828)] TR0030 P833
900 2 23,000 46,000
5 128..5mm TT7315 P372
BOO 2 32,400 64,800
925 TM11700351 P2-1-95
2 1,050 2,730
T4#99
12 202,930 24,351
P0000001
227,281
P0000002
2,272

14




1 (S810600-0001)

( ) Gp-Cp-2E
(100 , ) ( -2- -8 , )
Gp-Cp-2E TTC772 P589
C00 1 15,240 15,240
23000004
1
P0000001
15,240
P0000002
15,240

[

1
(sj1t)=FUNC_TANKA((SJ1c))

15,240=FUNC_TANKA(TTC772)
(SIH)={1 (S)+ 100}x (K1)x (K2)x (K3)
1=(1 0+ 100)x 1x 1x 1

[ 1
[A] = 3 Gp-Cp-2E [B] = 1 100
[Cl1=1 [b]1=1
[E1= 1 [F1=1 -
[y =1

15




2 (5812010-0002)

6mm m2
( 50m2 , ) (-2- -1 ) )
6mm TTA701 P614
€00 1 m2 7,320 7,320
Z3000004
1
P0000001
7,320
P0000002
7,320
]
(sjt)=FUNC_TANKA((SJc))
6,100=FUNC_TANKA(TTA701)
(SIH)={1 (S)+ 100}x (K2)x (K3)
1.2=(1 20+ 100)x 1x 1
(SIt)=(sjt)x (SIH)
7,320=6100% 1.2
1
[A]=1 6mm [B] = 50m2
[c]1=1 [b] =
[E]1=1

16




3 (5821210-0001)

15cm 1.5mm 1,000
( , )y ( -1- -1 , )
[ C Il 15cm TTDAOL P633
1,000 209 209,000
JIS K 5665 3 1 TTDG75 P275
BOO 570 kg 225 128,250
JIS R 3301 1 TTDG76 P275
BOO 25 kg 175 4,375
( ) TTDG77 P275
BOO 25 kg 470 11,750
( ) TT0250 P248
910 40 154 6,160
79000004
5 150,535 7,465
P0000001
367,000
P0000002
367
1
(dh)=1000
1,000=1000
(dht)=FUNC_TANKA((DHc))
209=FUNC_TANKA(TTDAO1)
(DHH)=(K1)x (K2)
1=1x 1
]
[A]= 2 [B] =

17




(S821210-0001)
15cm 1.5mm 1,000

( ’ ) ( -1- -1 ’ )

15cm
1.5mm

15 18 [ =

.000 kg [R]

.000 kg
kg

CoOOoOR P WER R, R,

o o
o O
[eNe]

RPRPRRPPRPORRPFPW

18




(5232010-0002)

14.0km 22_0km 100 m3
3= 2 , )
[0.847(3/1  0.828)] TR0030 Pga3
900 11:628 23,000 267,444
9.0m3 $923619-0001

11:628 83,040 965,589.12

Z3000004
1 966 .88

P0000001
1,234,000

P0000002
12,340

]
(R13)=1x 100+ (D)

11.628=1x 100+ 8.6
(KD)=100+ (D)
11.628=100+ 8.6

[

]

[A] = 3 14.0km 22 _0km

19




1 (SP210100-0001)
1 m3
-1- -1 5,980.00
Q) ()
100.00
[0.847(3/1 0.828)] TR0030 P833
900 100.000 5,980 100.00 23,900 23,000
[
(G 6,214 x {

(100.00 100x 23,000 23,900)x 100.00
(100 100) 100}

5,980.00

100.00

[

1
[J1] =1

[32] = 4

20




2 (SP410261-0001)

( )1 30mm (13) 1 m2
( 1.4 , 2.15) ( -1- -1 , ) 2,309.00
() €)
0.43
( )
0.5 0.6 TM10800412 p2-1-57
0.298 6.88 0.28 1,390 1,430
[ ]
40 60kg TM10800712 P2-1-60
0.085 1.96 0.08 346 356
C )
0.074 1.72
46.04
[0.783(3/1 0.769)] TR0020 P833
900 20.507 473.5 17.87 26,700 29,600
[0.847(3/1 0.828)] TRO030 P833
900 15.925 367.7 15.99 23,900 23,000
[0.771(3/1 0.775)] TRO010 P834
900 5.223 120.6 4.83 28,900 30,200
C )
7.913 182.7
53.53
13)
13mm TT8430 p212
910 43.352 1,001 47.96 484,000 423,000
PK-3 PK-4 TT0211 pP217
B0OO 6.371 147.1 5.42 103 117

21




2 (SP410261-0001)

( )1 30mm (13) 1 m2
( 1.4 , 215) ( -1- -1 ) 2,309.00
() (%)
TT0240 p248
910 0.107 2.48 0.09 149 172
( ) TT0250 P248
910 0.047 1.09 0.04 134 154
« )
0.019 0.43
0.079 1.84
[ 1
(G 2,390.1 x {
(0.28 100x 1,430 1,390 0.08 100x 356 346)x 0.43 (0.28 0.08)
(17.87 100x 29,600 26,700 15.99 100x 23,000 23,900 4.83 100x 30,200 28,900)x 46.04 (17.87 [15.99 4.83)
(47.96 100x 423,000 484,000 5.42 100x 117 108 0.09 100x 172 149 0.04 100x 154 134)x 53.53 (47.96 5.42 0.09 O.

04)

(100 0.43 46.04 53.53) 100} 2,309.00
[ 1
[J2] = 30.000 mm 1 [J11 =1 1.4m 50mm
[A1] = 18 (13) [94] = 3 PK-3
[J6] =1

22




3 (SP410031-0002)
( ) 100mm 1 1 m2
( RC-40 , -1- -1 973.40
() €)
5.62
[ ]
0.11m3( 0.08m3) TK9220 P568
BOO 2.5% 25.25 2.91 3,410 3,770
(
3-4t TK2610 P566
BOO 2.166 21.08 2.55 3,540 3,730
C )
0.139 1.35
72.88
[0.847(3/1 0.828)] TRO030 P833
900 23.659 230.3 30.50 23,900 23,000
[0.793(3/1 0.778)] TRO120 P833
900 21.985 214 26.32 27,700 28,700
[0.783(3/1 0.769)] TR0020 P833
900 12.451 121.2 13.94 26,700 29,600
C )
1.740 16.94
21.50
RC-40 TT8454 p212
910 33.255 323.7 19.41 120,000 255,000
( ) TT0250 P248
910 1.881 18.31 2.03 134 154

23




3 (SP410031-0002)

( ) 100mm 1 m2
( RC-40 , Yy ( -1- -1 , 973.40
() €)
C )
0.098 0.95
0.032 0.32
[ 1

(P*)  784.89 x {

(2.91 100x 3,770 3,410 2.55 100x
(30.50 100x 23,000 23,900 26.32 100x 28,700 2
(19.41 100x 255,000 120,000 2.03

3,730 3,540)

100x 154 134

x 5.62 (2.91 2.55)
7,700 13.94 100x 2
x 21.50 (19.41 2.

9,600 26,700)x 72.88 (30.50

03)

26.32 13.94)

(100 5.62 72.88 21.5) 100}  973.40

[ 1
[J1] = 100.000 mm [J2]1 = 1 1
[J3] = 6 RC-40 [04] = 1

24




4 (SP410260-0001)
( )1 50mm (20) 1 m2
( 1.4m 2.35) ( -1- -1 3,332.00
() €)
0.43
( )
0.5 0.6 TM10800412 p2-1-57
0.211 7.04 0.24 1,390 1,430
[ ]
40 60kg TM10800712 P2-1-60
0.114 3.81 0.13 346 356
C )
0.053 1.76
42.30
[0.783(3/1 0.769)] TR0020 P833
900 17.758 591.7 18.71 26,700 29,600
[0.847(3/1 0.828)] TRO030 P833
900 11.038 367.8 13.40 23,900 23,000
[0.771(3/1 0.775)] TRO010 P834
900 3.622 120.7 4.05 28,900 30,200
C )
5.504 183.4
57.27
(20
20mm TT8025 P146
910 57.023 1,900 52.51 595,000 755,000
PK-3 PK-4 TT0211 pP217
B0OO 4.415 147.1 4.54 103 117

25




4 (SP410260-0001)

( )1 50mm (20) 1 m2
( 1.4m , 2.35) ( -1- -1 ) 3,332.00
() €)
TT0240 P248
910 0.158 5.26 0.16 149 172
( ) TT0250 P248
910 0.029 0.98 0.03 134 154
C )
0.032 1.07
0.043 1.38
[ ]
(GD) 2,852.9 x {
(0.24 100x 1,430 1,390 0.13 100x 356 346)x 0.43 (0.24 0.13)
(18.71 100x 29,600 26,700 13.40 100x 23,000 23,900 4.05 100x 30,200 28,900)x 42.30 (18.71 |13.40 4.05)
(52.51 100x 755,000 595,000 4.54 | 100x 117 103 0.16 100x 172 149 0.03 100x 154 134)x 57.27 (52.51 4.54 0.16 0.
03)
(100 0.43 42.3 57.27) 100} 3,332.00
[ 1
[J2] = 50.000 mm 1 [J11 =1 1.4m 50mm
[A1] =1 (20) [34] = 3 PK-3
[J6] =1

26




5 (SP410040-0001)
( ) 150mm 1 1 m2
( M-40 ) -1- -1 1,091.00
() €)
9.88
] 2
3.1 TM50700022 P2-1-56
2.033 22.18 3.96 17,900 17,600
2
10t 2.1m TM50800022 p2-1-57
1.646 17.96 3.13 13,600 13,700
8t 20t TK2630 P569
BOO 0.573 6.25 1.01 4,480 4,870
C )
0.934 10.19
33.13
C )
[0.793(3/1 0.778)] TRO120 P833
900 8.364 91.25 15.46 27,700 28,700
[0.783(3/1 0.769)] TR0020 P833
900 2.981 32.52 5.15 26,700 29,600
[0.847(3/1 0.828)] TRO030 P833
900 2.527 27.57 5.03 23,900 23,000
[0.771(3/1 0.775)] TRO010 P834
900 0.829 9.04 1.52 28,900 30,200
C )
3.231 35.25
56.99
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5 (SP410040-0001)

5.15 5.03 1.52)

( ) 150mm 1 1 m2
( M-40 , ) -1- -1 , ) 1,091.00
() €)
M-40 40 Omm TT8344 P183
910 74.299 810.6 53.57 240,000 637,500
( ) TT0250 P248
910 1.686 18.39 2.81 134 154
C )
0.821 8.96
0.076 0.84
[ ]
() 569.67 x {
(3.96 100x 17,600 17,900 3.13 100x 13,700 13,600 1.01 100x 4,870 4,480)x 9.88 (3.96 3.13 1.01)
(15.46 100x 28,700 27,700 5.15 100x 29,600 26,700 5.03 100x 23,000 23,900 1.52 100x 30,200 28,900)x 33.13 (15.46

(53.57 100x 637,500 240,000 2.81

100x 154 134

)x 56.99 (53.57 2.

81)

(100 9.88 33.13 56.99) 100} 1,091.00

[ 1
[J1] = 11 M-40 [J4] = 150.000 mm
[5] =1 1 [971 = 1
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6 (SP410030-0001)
( ) 150mm 1 1 m2
( RC-40 ) ( -1- -1 758.30
() €)
4.67
[ ] 2
3.1 TM50700022 P2-1-56
2.914 22.1 1.87 17,900 17,600
2
10t 2.1m TM50800022 p2-1-57
2.363 17.92 1.48 13,600 13,700
8t 20t TK2630 P569
BOO 0.827 6.27 0.48 4,480 4,870
C )
1.339 10.15
15.69
C )
[0.793(3/1 0.778)] TRO120 P833
900 12.023 91.17 7.32 27,700 28,700
[0.783(3/1 0.769)] TR0020 P833
900 4.287 32.51 2.44 26,700 29,600
[0.847(3/1 0.828)] TRO030 P833
900 3.630 27.53 2.38 23,900 23,000
[0.771(3/1 0.775)] TRO010 P834
900 1.192 9.04 0.72 28,900 30,200
C )
4.650 35.26
79.64

29




6 (SP410030-0001)

( ) 150mm 1 1 m2
( RC-40 , ) ( -1- -1 , ) 758.30
() €)
RC-40 TT8454 pP212
910 64.091 486 78.02 738,000 382,500
( ) TT0250 P248
910 2.423 18.37 1.33 134 154
C )
0.243 1.84
0.018 0.14
[ ]
(GD) 1,202.1 x {
(1.87 100%x 17,600 17,900 1.48 100x 13,700 13,600 0.48 100x 4,870 4,480)x 4.67 (1.87 1.48 |0.48)
(7.32 100x 28,700 27,700 2.44 100x 29,600 26,700 2.38 100x 23,000 23,900 0.72 100x 30,200 | 28,900)x 15.69 (7.32

2.

44 2.38 0.72)

(78.02 100x 382,500 738,000 1.33
(100 4.67 15.69 79.64) 100} 75

100x 154 134
8.30

)x 79.64 (78.02 1.

33)

L 1
[J1] = 150.000 mm [321 =1 1
[J3] = 6 RC-40 [94] = 1

30




7 (SP210110-0001)
0.28m3(  0.2nm3) 1 m
(6.0km  DID , « ) )y ( -1- -1 2,214.00
Q) ()
24.45
4 TM103000221 P2-1-22
25.113 556 24.45 7,323 8,571
63.42
[0.816(3/1  0.793)] TR0130 P833
900 62.602 1,386 63.42 22,400 25,200
12.13
( ) TT0250 P248
910 12.231 270.8 12.13 134 154
0.054 1.2
L 1
(At009)=FUNC_KIKAI((At008),0)
8,310=FUNC_KIKAI(TM103000221,0)
(At011)=FUNC_TANKA((At010)) @t )
261=FUNC_TANKA(TFM0104)
(At012)=(At009) (AtO11)
8,571=8310 261
[ 1
P 1,943.1 x {
(24.45 100x 8,571 7,323)x 24.45 24.45
(63.42 100x 25,200 22,400)x 63.42 63.42
(12.13 100x 154 134)x 12.13 12.13
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7 (SP210110-0001)
0.28m3(  0.2nm3) m3
(6.0km  DID , «C ) )y ( -1- -1 , ) 2,214.00
Q) ()
(100 24.45 63.42 12.13) 100}  2,214.00
1
[J1] = 2 [J2] =5 0.28m3(  0.2m3)
[J3] = 1 ( ) [041=1 DID DID
[Jo] =8 6.0km
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8 (SP227010-0002)
( ) 1 m3
(12.0kn  DID , ) Y ( -2-25-1 8,228.00
(D) (D)
18.57
TM103000121 p2-1-22
19.130 1,574 18.57 4,873 5,702
72.35
[0.816(3/1  0.793)] TRO130 P833
900 71.670 5,897 72.35 22,400 25,200
9.08
( TT0250 P248
910 9.188 756 9.08 134 154
0.012 1
1
(At009)=FUNC_KIKAI((At008),0)
5,520=FUNC_KIKAI(TM103000121,0)
(AtOL1)=FUNC_TANKA((At010)) et )
182=FUNC_TANKA(TFM0004)
(At012)=(At009) (At011)
5,702=5520 182
]
() 7,245.6 x {
(18.57 100x 5,702 4,873)x 18.57 18.57
(72.35 100x 25,200 22,400)x 72.35 [72.35
(9.08 100x 154 134)x 9.08 9.08
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8 (SP227010-0002)
( m3
(12.0km DID ( ) ( -2-25-1 8,228.00
() (%)
(100 18.57 72.35 9.08) 100}  8,228.00
1

[J1] =3 [J2] = 4

[331 =1 DID DID [Jc] =11 12.0km

[P =1
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